ERRUVEH EDRECEOBER(FM6F4A1BRTE) fE 5

TEREEH R - = -
e g P, &3 3 B DR
ER (| SHANEEBBERICRET HHELLDHHE SERCD) = BE, CSEECSERCOREE
5
1R | EERTHEAOBSE (EFH 14 11.0% [Heh _ 9
= B ‘g 25 | 19.7% |—f&
24 BEOMBR GRBRELRET DRBETIEE | |, 87% |He 8
Y RIHMAOBTE  EF, o ¥ T
1 ETEOBE iﬁz% R Flxs
3k (2 FEFEXITTEHEIOBE 26 20.5% 26 20.5% |#{RX I
F{EHED 14 _
E3N T 76 e
& 10
1 HAERBEORREOBHE -
2 TROBH Ay 9 iy
4% |3 BIEHOBH 46 36.2% | & 25| 46 36.2% 'ﬁﬁ
Ll = .
4 i’p%ﬁ’éﬁoiﬁo)ﬁﬁ sErE ) gy
B 46
REME 8
1 2& %E%ﬁﬁmﬁﬁ% ERS 1
5% |3 l;;ﬁ?%i%é‘ggﬂji&kﬁso)&ﬁo)mﬁ 20 15.7% |8 9| 20 15.7% i
4 E;’f&%ﬁ%‘ﬁ?ﬂi%@ﬁf% T )
H 20
1 grwﬁﬁégiﬁoﬁﬁmﬁ ?%E 5
2 RESZDNEHKROERD . |E 1 oy |
6% |3 A BNO R RRORT T memsnme | 7| 5% [RER
ol g 7
1 AFTOREXIEIBEOBE
2 %%@#ﬁ%ﬁ%?tﬁ@%%ﬁmiiﬁwﬁ HE 1
3 ZESFEDEERORDOEE RER,
7%k |4 RERZDEEROREOERE 1 0.8% 1 0.8% [XIL:]E
5 Eﬁ%ﬁﬁ%ﬁozéﬁ%oiﬁﬁoﬁﬁ &
D
6 RELEFEITOHEMBORIIRED B 1
B Fh
T AT OB RXEE B EE DBG
2 %%U#ﬁ%ﬁi?ﬁ“o&ﬁmiﬁﬁwﬂ% EE 2
3 RBLEBREITIRESFTDEHERORD EEHR
8#k B 75 2 1.6% 2 1.6% | XIEK
4 E%%ﬁﬁ%ﬁ?? REDEHRORE &
)
5 4-*;; ES#GEBETOIHAEBEOROBE 5 2
[Eh
1 E#TEBRETIATOBREISHER
Eo)ﬁi@ e TS EDEHER
2 BICHSLEBETHOREERFDOEHERD . 0
ok EOBE = 0 0.0% 0 0.0% |EBEHR
3 BICEEN ORHLEREITIHARED
ROB®E (EH = 0
&t 127 | 100.0%

F) ARICEEFNBIAENESERAESRVERABEZET.



